ABR/AERZ5

BISiEE / MODEL ILLUMINATION

RENEE : ABRO60/AER070

ABRO9O/AER090 | ! : E DIARLS
ABR115/AER120 | | : . 1-DikEHERRELS
ABR142/AER155 2-DikEERY

JHAREL : B (L1) : 3,4,5,6,7,8,10,14,20 Do S2:HREE
MR (L2) @ 12,15,20,25,30,35,40,50,60, |
70,80,100,120,140,160,200

__________________________________________________________________________

%l : ABR060-10-SO0 MHMD-042G1U

BSEN® ABR060-10-S[1-50*3/14*30/70/M4

LB*LE  S*LR LA LZ

LR
LE oLz

N
T

|
|
|
|
| i1
| ¢
|
|
|
|
|
|
o
olB
Lc
|
|
|
|

17




(1) ABR/AERZ7

TENHEES# / GEAR BOX PERFORMANCE INFORMATION

. | ABR0O60 | ABR090 | ABR115 | ABR142
542

588 1,140
4 14o 290 1,050 1,700
5 60 160 330 650 1,200 2,000
6 55 150 310 600 1,100 1,900
1 7 50 140 300 550 1,100 1,800
8 50 140 290 542 1,000 1,600
10 60 160 330 650 520 1,220
14 50 140 300 550 1,100 1,800
]
12 55 130 208 342 588 1,140
15 55 130 208 342 588 1,140
20 50 140 290 542 1,050 1,700
25 60 160 330 650 1,200 2,000
30 55 130 208 342 1,200 2,000
35 60 160 330 650 1,200 2,000
40 50 140 290 542 1,200 2,000
R H ST Nm 50 60 160 330 650 1,200 2,000
2 60 55 150 310 600 1,200 2,000
70 60 160 330 650 1,200 2,000
80 50 140 290 542 1,200 2,000
100 60 160 330 650 1,200 2,000
120 - 150 310 600 1,100 1,900
140 - 140 300 550 1,100 1,800
160 - 120 260 500 1,000 1,600
200 - 100 230 450 520 1,220
BRI 5ETs Nm 1,2 3~200 fEEEm e
FUE N ERIRN rpm 1,2 3~200 5,000 4,000 4,000 3,000 3,000 2,000
RABANEEns rpm 1,2 3~200 10,000 8,000 8,000 6,000 6,000 4,000
. 1 3~20 <7 <7 <7 <7 <7 <7
HRS1 arcmin 2 12~200 <10 <10 <10 <10 <10 <10
. . 1 3~20 <10 <10 <10 <10 <10 <10
piRsz arcmin 7 12~200 <12 <12 <12 <12 <12 =02
RN Nm/arcmin 1,2 3~200 7 14 25 50 145 225
BYFAR 6 1 Fare? N 1,2 3~200 1,530 3,250 6,700 9,400 14,500 50,000
BUFHE JIF 2016 N 1,2 3~200 630 1,300 3,000 4,000 6,200 35,000
BRI E JIF 20262 N 1,2 3~200 765 1,625 3,350 4,700 7,250 25,000
ERFE® hr 1,2 3~200 20,000*
1 3~20 <95%
W n £ 2 12~200 <92%
1 3~20 2.1 6.4 13 24.5 51 83
g8 ' 2 12~200 25 7.8 14.2 27.5 54 95
ERRE °C 1,2 3~200 -10°C~+90°C
SR 1,2 3~200 & 8B g
Frr &5 1,2 3~200 IP65
ZRFME 1,2 3~200 TEEFM
12 {E ( n+=3000rpm ) dB 1,2 3~200 <63 <65 <68 <70 <72 <74
BIRN S R 2
o ABRO060 | ABR090 | ABR115 | ABR142
3~7 0.35 2.25 6.84 23.4 68.9 135.4
1 8~10 0.07 1.87 6.25 21.8 65.6 119.8
14~20 0.07 1.87 6.25 21.8 65.6 119.8
Lzl N kg - cm? 12~40 0.09 0.35 2.25 6.84 23.4 68.9
2 50 0.09 0.31 1.87 6.25 21.8 65.6
60 0.09 0.35 2.25 6.84 234 68.9
70~100 0.09 0.31 1.87 6.25 21.8 65.6
120~200 - 0.31 1.87 6.25 21.8 65.6
1REEE ( i=Nin/Nou ) 2.5 HEEEE 100rpm B , 46 FHIHEAOIE,

* ESERREREAFS =S Z—

18




FIE L2 BT ERDRMED

REDUCER OUTPUT SHAFT OF THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE

ABR/AERZ7!

L
L x]
.
. R AT AR 2 B R, P
Fau Fio AT REHRAAR T ROMR R BB IEANRT HATRE
=D e - EAHIE RIS,

Fu 1 1
P

BFERI Fae[N] D TP OMLE

100,000

60,000

40,000

20,000

10,000

6,000 —

|
|

ABR142/AER155

4,000 ~

2.000 o<t 0O~

ABR115/AER120

1,000

T T— ABRO90/AER090

300
10 20 40 60 100 200 400 600 1000

iy L A N2 [rpm]

X

\\ N T~
N ™~ T~ i
0.3 1 T —

0 40 80 120 160 200 240 280 320 360 400
EMEAFESNRE X[mm]

A
V940
99,

* R IEEERES =S Z—.

19

T — ABROG60/AER070

2000

ABRO60/AER070
ABRO090/AER090
ABR115/AER120
ABR142/AER155

L2 [0 HFarbfe 0 F 3 P ML
BEIX=1/2xLeY , TEMAIEZ
IR HLIE T E 4 4Rz A
TEA % 20,000nr 6T ,
FREEAZ Z AR M OF s,
ESRER  MEERZZE
VFHE F2a8 , H9

F2a18=0.2xF2r8
F2428=0.1xF2r8

42 [8) JF o 1 78 5 AR O
B, BEILBEN X<
1/2xL , FEEAZ 2 RITFR[
HEKR , iz R E Y EX >
1/2xLEY | FREERZ 2 RFR
EAMEN , EHER , &
IR AL A AR 6 0 5 L
BEX, EHUBARERK ,
ERANTIAR , RERTF
’RmEh :

F’2rs=KbxF 28

e h:

F’2a18=0.2XF 28
F’2a28=0.1XF’2r8




®

SMERTEI% / OUTLINE DIMENSION SHEET

it / OUTPUT IR / INPUT
C9

4:M5x10 35 c8

O
285 F
22 v g

C7

v

B2 o
~ Q
S =3 11" B TS
15 .
15 o ¥
4 ©
= Ll—|_/
5 (&) C2

T

L]

T 1= &l

-

C3r7 sl 2

C567 =

AERO070-L2
iR / OUTPUT . NG / INPUT
AM5X10 35 c8 7
285
) - 5
- g
8§ = A—tT-Ttt—
= O
15 o
K o
5 5

[
[
= 3
e

T
C3r7 8

C567

C10

5h9

88

[ce)
AERO070-L1 153
—————— 066.7 4-M4x10 a8 33 @381 5 60 —— 55 775 1125
AERO070-L2 117 182
AERO070-L1 88 153
——— @70 4-M4x10,4-M5x12 @11,014 33 @50 5 60 ——— 55 775 1125
N AERO070-L2 117 182
AN
= AERO070-L1 88 163
———————— @90 4-M5x12,4-M6x14 @19 425 @70 65 80 ————— 12 87 122
AERO070-L2 117 192

* CI~CTRAFINEDIAER R R, I iRiER R EREIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

20




®

SRS

ABRZ7%!

®)

SMERTE® / OUTLINE DIMENSION SHEET

i / OUTPUT BN / INPUT
Cc9

37 C8

285 6

@50n7

B2 -
= €
- =3 14+—H-—F1—-
: = \
¥ 15 3
—] > o
7 =
| N280 e ©
| | I_I
. HENIk
| ___I_—!_ —
T
C3F1 s g
C567
ABRO060-L2
g / OUTPUT BN / INPUT
C9
37 C8 oc7

@50n7
'

|
T
|
| 9655
%

C12

4-955

i
I__ —
il
o
C4
C11

Cl
C10

iy HH4M42/Output Diameter

wo| | ABRO060-L1 86 153

——gee7  4-M4x10 @8 33 @381 5 60 —— 55 775 111.75

ABRO060-L2 e e

ABRO0G0-L1 86 153
—————————— @70 4-M4x10,4-M5x12 Q11,814 33 @50 5 60 — 55 77.5 111.75

ABRO060-L2 e T

= ABRO060-L1 86 163
AL, T 590 4-M5x124-MBx14 @19 425 @70 65 80 —————— 12 87 12125

ABRO060-L2 e T

* C1I~CTRAFINEDIAER R R I iRIER R EREIREM.

* C1~CT7are motor(metric standard) specific dimensions, which could be customised,

21




ABRZ7%l

SMERTEZ / OUTLINE DIMENSION SHEET

% / OUTPUT co NG / INPUT
48 C8
36,5 8
090 @116
2116
) - k28
(53 w0
E| e Al .8 I
. g P | :
S 19
¥ | € 15 ! e 5
10 ‘ ! ‘ 5
. [ : [ . T —— T c2
| O
i e e
T C¥1| o o
sz ' O
ABR090-L2
% / OUTPUT - N / INPUT
48 C8
36,5 8
190 2116 E 0e7

N

oy

@80n7
tF &
|
I@875
294

i

|
]
N

?/j
A
v

- | - -
5 ] , 5 N é] .
=7 2y 15 % N N5
¥, S
{ 10 fe - 5 P ax)

C2

@ “
c4

I
I
I
HERE
& T
~ |
C6
C10

i HH %42 /Output Diameter
6o _-_-

- M8x1.25P @90  4-M5x12,4-M6x14 45 70 65 80 116 209

[Te)

A 1 4 216 45 @80 65 86 116 209 6 96 143

3 ABROSO.L] 2100 4-M6x14
2115 4-M8x20 @19022 565 @95 8 100 116 214 16.5 117.5 164.5
@145 4-M8x20 @19,022,024 59 @110 11 130 116 229 19 120 167
266.7 4-M4x10 @8 33 9381 5 60 13052085 55 77.5 1245

| @70 4-M4x104-M5x12  @11,014 33 @50 5 60 130.52085 55 77.5 1245
AT ABR090-L2

@90 4-M5x12,4-M6x14 @19 425 @70 65 80 13052185 12 87 134
@100 4-M6x14 @16 425 @80 65 86 13052215 11 87 134

* C1~CTRAFIREDIAEER Z R, AR B R ERBIREH.

* C1~CT7are motor(metric standard) specific dimensions, which could be customised,

22




SMZRTEZ / OUTLINE DIMENSION SHEET

AER090-L1

HtHis / OUTPUT

4-M6x12

AER090-L2

s / OUTPUT

4-M6x12

AERZ7

iy HH#42/Output Diameter

c9 NI / INPUT
44 c8
36,5
b2
3
= - S}
R T :
.|19 \ @) ~
(&}
15 ‘ _
B T © 2
[ I | <
T T T (&)
1 ©
e H‘,T,,A
C3F; © o
o5z Ol ©
& BN / INPUT
44 c8
36,5
iq
ko8 =
S
= - S}
g8 ) —— et
19 | S
L g 5
6 I , I
I ‘ ) Zr)
. ©
,,,,, ,T,,, —
C3F7 3 =
Cbher7 °

6ho @90 4-M5x12,4-M6x14 @19 45 @70 6.5 80 120 209 7 96 143
_ . 1 d @16 45 @80 65 86 120 209 6 96 143

- M8x1.25P AER090-L1 @100 4-M6x14
< | @115 4-M8x20 219,022 56.5 @95 8 100 120 214 16.5117.5164.5
o @145 4-M8x20 219,022,024 59 @110 11 130 120 229 19 120 167
766.7 4-M4x10 @8 33 @38.1 5 60 134.5208.5 55 77.5 1245
@70 4-M4x10,4-M5x12 @11,014 33 @50 5 60 134.5208.5 55 77.5 124.5

im-ﬂ;u_t AERO090-L2

=4=T @90 4-M5x12,4-M6x14 @19 425 O70 6.5 80 13452185 12 87 134
@100 4-M6x14 @16 425 @80 6.5 86 13452215 11 87 134

* C1~CTRATIREDIAEERC R AIiREE P ERPIRE.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

23




SMERTE® / OUTLINE DIMENSION SHEET

ABRZ7%l

s / OUTPUT o BN / INPUT
65 c8
51 o
Citts 2152 ]
: )
Q ! R >
4 | XN ‘?"a - g B
S| ety pd- - -F--—-—-
¢ 5 F--1 \ \
of N y - 28 |2 i ~
3 ) & : 0 O
é\ | MAY = |
SYaEE o el - 5
| 1
: :J: | 3
e e
! 3F 8|
' C567
ABR115-L2
HHi% / OUTPUT HEINE / INPUT
c9
65 c8
o115 /M 5 o
5 b4
\p" I | 2
] 5 e | Y I
g I gy ]
o 0 O N
& 28 |2 : g
el i °
e ]2
————FoE=Elis
3F] o

16y HH %42 /Output Diameter

10h9

M12x1.75P

35

@145 4-M8x20 219,022,024 64 @110 10 130 137.5 267.5 19.5 135.5 195

ABRITTSL @200 4-M12x28 @35 81 @114.3 10 180 137.5 2925 28 1525 212

@90 4-M5x12 ,4-M6x14 @19 45 @70 6.5 80 16752775 7 96 1555

EEH;_—;QEC ABR115-L2 @100 4-M6x14 216 45 @80 6.5 86 16752775 6 96 155.5
- 2115 4-M8x20 19,022 565 @95 8 100 167.5 282.5 16.5 117.5 177

@145 4-M8x20 @19,022,324 59 @110 11 130 167.5 297.5 19 120 179.5

* C1~CTRATIRESIAEEIR Z R AR A ERBIREH.

* C1~CT7are motor(metric standard) specific dimensions, which could be customised,

24




AERZ7

SMAERTE® / OUTLINE DIMENSION SHEET

iR / OUTPUT HiNif / INPUT
C9
62 cs
4-M8x16 51
= Y\A
8 & Jom=r [ ____ ] N IO D
5| g P-4 \
28 |2 i
L | o 8
: ~—
o e 5
HEHIN |
[] : [ <
1 H 1 ‘@‘ Oo
C567
AER120-L2
NG / INPUT c9 g / OUTPUT
62 cs
51 4-M8x16
_b_40
I -c'E, o=t
5 g WEESFr T el i e ek ‘
% |2 |0 &
: ik ° !
e [ 3 !
oo {TE A i
. |
Cher

iy HH#042/Output Diameter

M12x1.75P

Yol
© @145 4-M8x20 319,022,324 64 @110 10 130 140.5 267.5 19.5 135.5 195.5
AERT20-LT @200 4-M12x28 @35 81 @114.3 10 180 140.5 292.5 28 152.5 2125
@90 4-M5x12 , 4-M6x14 @19 45 @70 6.5 80 17052775 7 96 156
iﬂiiu:_l:t JEmT @100 4-M6x14 @16 45 @80 6.5 86 17052775 6 96 156
@115 4-M8x20 219,022 565 @95 8 100 170.5 282.5 16.5 117.5 177.5
@145 4-M8x20 19,022,224 59 @110 11 130 170.5 297.5 19 120 180

* C1~CTRATIWREDIAEER Z R AT REE R ERPIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

25




Shoa

@ T

SMiERTEZ / OUTLINE DIMENSION SHEET

4-911

NG / INPUT

it / OUTPUT
Cc9
97 C8
2186
1142 79 12
_b_ 65 i
o S S
= H=—HHIAF F I
36 3 N 3
] — I © -
15 — F=T 13}

[ N

| !0 S

i '-"ﬁ""“" 3

a8
Cbher
ABR142-1L2
i / OUTPUT co BN / INPUT
97 C8
2186
1142 Vs 79 12 B

4-911

™
|
o ﬂ:[‘"
1
50,5

213007
jHE
[]
[
|
C12

o

=+ | 1
4
c11

(]
c4

R

16y HH %42 /Output Diameter

o
<

12n9

M16x2.0P

|

@145 4-M8x20 222,024 72 @110 11 130 170 338 19.5 150 227.25
@200 4M12x28 @35 82 ©1143 8 180 170 357 25 160 237.25
X G145 4-MBx20 319,022,024 64 @110 10 130 202.5 3645 195 135.5 210.75
HHET ABR142-L2

200 4M12x28 @35 81 @1143 10 180 2025 3895 28 1525 227.75

* C1~CTRARIREDIAEER C R, AIREE A ERPEIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

ABR142-L1

26




(1) AERZE7I

SMRERTE® / OUTLINE DIMENSION SHEET

NG / INPUT

§ii% / OUTPUT co
94 C8
4-M10x20 i
b 65
3| & frp--
A EP T T\
% | 3 5 S
- | —
r=- 1)
[12) T
1 1
1 1 | 1 o 3
L= (=]
| L bt
} 3 9
Cher
AER155-L2
i / OUTPUT 9 N / INPUT
94 c8
4-M10x20 79
b e | \)
S =0 LN
5 g P SR
36 3 | o] S
B | rls S
12 T | T
1 1 =
1,10 ©
ki
Che7

565 HH %42 /Output Diameter
12n9

M16x2.0P
AER155-L1 @145 4-M8x20  ©22,@24 72 ©110 11 130 173 338 195 150 227.5
T 2200 4-M12x28 @35 82 O1143 8 180 173 357 25 160 237.5

@145 4-MBx20 ©19,022.024 64 @110 10 130 205.5364.5 195 1355 213
=t AER155-L.2

BT 2200 4-M12x28 @35 81 @114.3 10 180 20553895 28 1525 230

* C1~CTRRBINESINERIRZ R AMRIEE P EREIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

43
|

27




© %

SMiZRTE% / OUTLINE DIMENSION SHEET

HHHi%/OUTPUT L0565 HN\If/ INPUT
105 210,5
82 15
T N 0180
6. 70 &
o) E o
8 =
< 5 \ \
42 o
& . 2l | o A $§
ﬁa |

214

4-M12x30

o

B35F] =
$114,3GT7

B2

85

ABR180-L2

HtHim/OUTPUT Lb1 IR/ INPUT

105 246
82 15

70

a1l |2
3 2 H ] E \
<t § A
& VA .
e B 3 |®
EN ’ N
© BN 4-M12x30
|
e
$114,3G7
By 4M42/Output Diameter
16h9
M20x2.5P
D
[Ye)
EEI?&EE EANDIAERR R oIiRIE R P K IR,

*The input motor specific dimensions could be customised.

28




(1) i ABRZ71

SMiZRTEZ / OUTLINE DIMENSION SHEET

ABR220-L1
iR/ OUTPUT rons HNiR/INPUT
138 ‘ 342.5
30]20
= 1220
105
90
= | e— E B
Q = 8
1 8 Ny
< g IV \\
2] sl p :
(@] @ W
. 4-M12x30
—— ¢ VXY |
L :
ol 5567
320067
ABR220-L2
- Pet) 2 A Ay
s /OUTPUT 138 386 NI/ INPUT
30]20
105 B
9
= - 8
~ g i
) e
< L 42 | 1 N a
o ©
I_/E\_ g 4-M12x30
{ gl
ol 25507

320067

&y M7= /Output Diameter

20h9

M20x2.5P

79.5_

ANDIKEERZ R FIHRIES P 2RI,

*The input motor specific dimensions could be customised.

29




	新立盈2022新款画册10-28 20
	新立盈2022新款画册10-28 21
	新立盈2022新款画册10-28 22
	新立盈2022新款画册10-28 23
	新立盈2022新款画册10-28 24
	新立盈2022新款画册10-28 25
	新立盈2022新款画册10-28 26
	新立盈2022新款画册10-28 27
	新立盈2022新款画册10-28 28
	新立盈2022新款画册10-28 29
	新立盈2022新款画册10-28 30
	新立盈2022新款画册10-28 31
	新立盈2022新款画册10-28 32



